
Page 1 || 5 

 

 

Enrollment No: _______________________         Exam Seat No: _______________________ 

C.U.SHAH UNIVERSITY 
Winter Examination-2015 

 

Subject Name: Data Communication and Networks   
 

Subject Code: 2TE04CNN1 Branch: Diploma (Computer Engineering) 

    

Semester: IV Date: 20/11/2015 Time: 2:30 To 5:30 Marks: 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: (14)  

 a)  Which of the following is not a type of Computer Network? 

A) Local Area Network.          B) Personal Area Network. 

C) Remote Area Network.       D) Metropolitan Area Network. 

 

 b)  What is Full Form of NIC? 

A) New Internet Connection.               B) Network Interface Card. 

C) Network Interface Connection.       D) Net Interface Card 

 

 c)  Switch is a              Device. 

A) Uni casting.              B) Multicasting. 

C)  Broadcasting.          D) None of Above. 

 

 d) What is the use of Bridge in Network?  

A) To Connect LAN.                         B) To Separate LAN.  

C) To Control Network Speed.          D) All of Above. 

 

 e) Which layers of the OSI determines the interface often system with the user? 

A) Network.          B) Application. 

C) Data link.          D) Session. 

 

    f) Which of the transport layer protocol is connectionless? 

A) UDP.                    B) TCP 

C) FTP.                     D) Nvt. 

 

 g) Which of the following is the logical topology?  

A) Bus.                   B) Tree.  

C) Star.                   D) Both A and B. 

 

 h) Which of the following are the types of Network Protocol? 

A) FTP.                B) IP. 

C) TCP.                D) All of Above. 

 

 

 i) Routing is done on which layer in OSI Model?  

A) Data Link Layer.             B) Session Layer.  

C) Network Layer.               D) Transport layer. 
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 j) What is the Full Form of LAN?  

A) Local Access Network.       B) Local Area Network.  

C)  Both A and B.                     D) All of Above. 

 

 k) The Entire hostname has a maximum of                    characters.  

A) 255.         B) 128. 

C) 121.         D) 64. 

 

 l) What is Internet? 

A)  A Single Network.       B)  A Vast Collection of different Network.  

C)  Both A and B.              D) None of Above. 

 

 m) How many layers in OSI Reference model? 

A) 4.                B) 5. 

C) 6.                D) 7. 

 

 n) What is the Full Form of DNS?  

A) Dynamic Name System.            B) Dynamic Network System.  

C) Domain Name System.              D) Domain Network Services. 

 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

     (A) Explain Bus and Star Topology with its advantage and dis-advantages. (07) 

     (B) Explain File Server and Proxy Server in detail. (07) 

Q-3  Attempt all questions (14) 

     (A) Explain OSI Reference Model with Diagram. (07) 

     (B) Explain Co-axial cable in detail. (07) 

Q-4  Attempt all questions (14) 

     (A) Explain Twisted Pair Cable. (07) 

     (B) Write a Short Note: Switch, Repeater. (07) 

Q-5  Attempt all questions (14) 

     (A) Explain Fiber Optics Cable in detail. (07) 

     (B) Explain Email and their protocol. (07) 

Q-6  Attempt all questions (14) 

     (A) Explain Country domain and Generic domain in detial. (07) 

     (B) Write a Short Note: Radio Wave, Infrared. (07) 

Q-7  Attempt all questions (14) 

     (A) Write a Short Note: Hub, Router, and  Access Point. (07) 

     (B) Explain Internet and Intranet in detail. (07) 

Q-8  Attempt all questions (14) 

     (A) Explain Classification of IP Address in detail. (07) 

     (B) Explain TCP/IP model. (07) 
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Q-૧  નીચેના પ્રશ્ન૊ના ંજવાફ આ઩૊. (૧૪)  
 a)  નીચેના મા ંથી કયુ ંનેટવકક એ  કમ્પ્યટુર નેટવકક ન૊ પ્રકાર નથી? 

અ) ઱૊ક઱ એરરયા નેટવકક .       ફ) ઩ર્કન઱ એરરયા નેટવકક . 
ક) રરમ૊ટ એરરયા નેટવકક .        ડ) મેટ્ર૊઩૊લ઱રટન એરરયા નેટવકક . 

 

 b)  એનઆઇર્ી નુ ં઩રુૂ નામ શુ ંછે? 

અ) ન્ય ુઇન્ટરનેટ કનેક્શન.        ફ) નેટવકક ઇન્ટરપેર્ કાડક.  
ક) નેટવકક ઇન્ટરપેર્ કનેક્શન.     ડ) નેટ ઇન્ટરપેર્ કાડક . 

 

 c)  સ્વવચ એ        પ્રકાર નુ ંરડવાઇર્ છે.   
અ) યનુનકસ્વટંગ.        ફ) મ઱ટીકાસ્વટંગ.  
ક) બ્ર૊ડ્કસ્વટંગ.         ડ) ક૊ઈ ઩ણ નહીં. 

 

 d) નેટવકક મા ંલબ્રજ ન૊ શુ ંઉ઩ય૊ગ થાય છે? 

અ) ઱ેન ને કનેક્ટ કરવા માટે.                   ફ) ઱ેન ને અ઱ગ કરવા માટે. 
ક) નેટવકક ની વ઩ીડ ને કંટ્ર૊઱ કરવા માટે.        ડ) આ઩ે઱ તમામ. 
 

 

 e) ઓએર્આઇ મ૊ડે઱ નુ ંકયુ ં઱ેયર નર્વટમ અને યઝુર વચે ન૊ ઇન્ટરપેર્ ફતાવે છે? 

અ) નેટવકક .            ફ) એપ્્઱કેશન.  
ક)  ડેટા લ઱ન્ક.          ડ)  રે્ર્ન. 

 

    f) નીચેના માથી કય૊ ટ્રાન્ર્઩૊ટક  ઱ેયર પ્ર૊ટ૊ક૊઱ કનેક્શન ઱ેર્ છે? 

અ) યડૂી઩ી.          ફ) ટીર્ી઩ી.  
ક) એપટી઩ી.         ડ) એનનવટી. 

 

 g) નીચેના માથી કઇ ટ૊઩૊઱૊જી એ ઱૊જજક઱ ટ૊઩૊઱૊જી છે? 

અ) ફર્.              ફ) ટ્રી.   
ક) વટાર.              ડ) અ અને ફ ફનેં્ન॰ 

 

 h) નેચેના માથી કય૊ પ્ર૊ટ૊ક૊઱ એ નેટવકક પ્ર૊ટ૊ક૊઱ છે? 

અ) એપટી઩ી.         ફ) આઇ઩ી.  
ક) ટીર્ી઩ી.           ડ) આ઩ે઱ તમામ. 
 

 

 i) રાઉટીગ ની પ્ર૊રે્ર્  ઓએર્આઇ ના કયા ઱ેયર મા ંથાય છે? 

અ) ડેટા લ઱ન્ક ઱ેયર.     ફ) રે્ર્ન ઱ેયર.  

 



Page 4 || 5 

 

 

ક) નેટવકક ઱ેયર.         ડ) ટ્રાન્ર્઩૊ટક  ઱ેયર. 
 j) ઱ેન નુ ં઩રંુૂ નામે શુ ંછે? 

અ) ઱૊ક઱ એક્રૈ્ર્ નેટવકક .    ફ)઱૊ક઱ એરરયા નેટવકક .   
ક) અ અને ફ ફનેં્ન॰            ડ) આ઩ે઱ તમામ.  

 

 k) હી૊વટનેમ વધ ુમા ંવધ ુ         કેરેક્ટર નુ ંહી૊ય છે? 

અ) ૨૫૫.             ફ) ૧૨૮.   
ક) ૧૨૧.               ડ) ૬૪. 

 

 l) ઇન્ટરનેટ શુ ંછે? 

અ) નરં્ગ઱ નેટવકક .       ફ) જુદા જુદા નેટવકક નુ ંક઱ેક્શન.              
ક) અ અને ફ ફનેં્ન॰       ડ) ક૊ઈ ઩ણ નહીં. 

 

 m) ઑએર્આઇ રેપેરેન્ર્ મ૊ડે઱ મા ંકેટ઱ા ઱ેયર હી૊ય છે? 

અ) ૪.           ફ) ૫.     
ક) ૬.            ડ) ૭. 

 

 n) ડીએનએર્ નુ ં઩રંુૂ નામ શુ ંછે? 

અ)ડાઇનૈનમક નેમ નર્વટમ.         ફ) ડાઇનૈનમક નેટવકક નર્વટમ.         
ક)ડ૊મેન નેમ નર્વટમ.              ડ)ડ૊મેન નેટવકક નર્વટમ. 

 

  નીચેના માથંી ક૊ઈ ઩ણ ચાર પ્રશ્ન૊ ના જવાફ આ઩૊  Q-૨ થી  Q-૮ 

Q-૨  નીચેના  ફધા પ્રશ્ન૊ ના જવાફ આ઩૊.  (૧૪) 

     (અ) ફર્ અને વટાર ટ૊઩૊઱૊જી નુ ં પાયદા અને ગેર પાયદા ર્ાથે  વણકન કર૊.    (૦૭) 

     (ફ) પાઇ઱ ર્વકર અને પ્રૉક્ર્ી ર્વકર નુ ંનવવતતૃ વણકન કર૊.  (૦૭) 

Q-૩  નીચેના ફધા પ્રશ્ન૊ ના જવાફ આ઩૊.  (૧૪) 

     (અ) ઑએર્આઇ રેપેરેન્ર્ મ૊ડે઱ ન ુઆકૃનત ર્હી વણકન કર૊.    (૦૭) 

     (ફ) કૉ- એકર્ીઅ઱  કેફ઱ ન ુનવવતતૃ વણકન કર૊.  (૦૭) 

Q-૪  નીચેના ફધા પ્રશ્ન૊ ના જવાફ આ઩૊.  (૧૪) 

     (અ) ટ્વીવટેડ઩ેર કેફ઱ ન ુવણકન કર૊.    (૦૭) 

     (ફ) સ્વવચ અને રી઩ીટર ની ટૂંકન૊ધ ઱ખ૊. 
 
 
 

 (૦૭) 
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Q-૫  નીચેના ફધા પ્રશ્ન૊ ના જવાફ આ઩૊.  (૧૪) 

     (અ) પાઇફર ઓ઩ટીક્ર્ કેફ઱ નુ ંનવવતતૃ વણકન કર૊.    (૦૭) 

     (ફ) ઈમે઱ અને તેના પ્ર૊ટ૊ક૊઱ ન ુવણકન કર૊.  (૦૭) 

Q-૬  નીચેના ફધા પ્રશ્ન૊ ના જવાફ આ઩૊.  (૧૪) 

     (અ) કંટ્રી ડ૊મેન અને જેનરીક ડ૊મેન નુ ંનવવતતૃ વણકન કર૊.    (૦૭) 

     (ફ) રડીય૊ વેવ અને ઇન્રારેડ ની ટૂંકન૊ધ ઱ખ૊.  (૦૭) 

Q-૭  નીચેના ફધા પ્રશ્ન૊ ના જવાફ આ઩૊.  (૧૪) 

     (અ) હફૂ, રાઉટર અને એક્રૈ્ર્ ઩૊ઈંટ ની ટૂંકન૊ધ ઱ખ૊.    (૦૭) 

     (ફ) ઇન્ટરનેટ અને ઇન્ટ્રા નેટ નુ ંનવવતતૃ વણકન કર૊  (૦૭) 

Q-૮  નીચેના ફધા પ્રશ્ન૊ ના જવાફ આ઩૊.  (૧૪) 

     (અ) આઇ઩ી એડૈ્રર્ ના  ક્઱ાર્ીપીકેશન ન ુવણકન કર૊.    (૦૭) 

     (ફ) ટીર્ી઩ી/આઇ઩ી મ૊ડે઱ ન ુવણકન કર૊  (૦૭) 

 

 

 


